


B. Synthesis of ferruginine
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Use the following hints to solve the task:
e Compound A is called 2-Methylcyclopentaneon according to IUPAC.
Reaction C — D is leading to a reactive intermediate.
The methyl ester function is retained in reaction F — G, b
A protecting group is exchanged for another one in step G to the bicycl, e
There is no reaction within the cyclus in step H = I, the repla M‘mmqm% i
‘molar mass of 30.03 g/mol. : ile X h
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Hints:
e Substance B has the name 3,4,5-trihydroxy,h§
e Substance E is a mixture of isomers. e
c. Draw the constitutional formulae of the comp

molecular formula of X.

D. Penicillin V
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5 dicyclohexylcarbodiimi
d. Draw the configuration




